CSP-[] 29 B2

2 =R
Ab ok
AFOI =
00 :CSCJ00
A ESHY = XIQANMIE EHAER
2J18 . CS[J101-03 SAR)o B2a
CspP - SRAHZ M A2l
02 :CSCI04 C o2z FHAR.
06 :CSL106
224 HE 2+ 2
g
S LAWY~ "
i @ AD o
[Emn o
[T g 2 R
[, ® D v
R < oojmETE
M5X0.8 2! 015
3 o
cop 40165 =3
(90" W xI)
=
LAIW 7 come
- G1/8
OY FC= 254X £sLT
F 2 0
HEHH
model CSP[]-A
/ oALE
LFAFW . ( Y AW
\ < LEAFW z
o - = / ] ]
2 O R % 1%
b3 T T ] [ ~ <<
2 3 % Z
= = S
= |
‘ ZAHE AM
b 2t 24
model CSP[]-C
338 29 IHAZI20N(F)2 TEL. 055-274-0971 E-Mail. : korea@pascaleng.co.jp




2IHE AM2 255X EsLUIt

CSP[-[] EE2HH - 2+ =g
mm
== 3H CSP00-A CSP-A CSP02-A CSP06-A
AIANTE €S100-7 €s0101-00 €S103-00 CS[104-7 CS106-0]
C 63 48 69 65 78
3 4 4 4 4
W M26 X 1.5 M30X 1.5 M30X 1.5 M36X1.5 M45X 1.5
AA 33.7 16.7 37.7 31.7 42.4
AB 13 13 13 15 16
AC 7 8 8 8 9.3
2 AD 28 32 32 38 47
AN EE model CSKUI AFBE Z2, CX4s AERIAS HAZMAR.
mm
b 2 24 CSP00-C CSP-C CSP02-C CSP06-C
“EVES CS100-0J €s001-00 €S103-00 CS104-J CS106-0]
w M26 1.5 M30x1.5 M30%1.5 M36x1.5 M45x1.5
AE 72 57 78 74 87
AF (011 =) 29 32 32 41 50
AANEE model CSKUI AHEE 2, AEXIS= AER3E HHFHAIR.
mm
== 3H CSP00-A CSP-A CSP02-A CSP06-A
b 2 24 CSP00-C CSP-C CSP02-C CSP06-C
CEVEL €S100-0J €s001-00 €S103-0J CS104-7 €S106-0]
w M26 1.5 M30%1.5 M30%1.5 M36%1.5 M45x1.5
AE 72 57 78 74 87
AG 48 32 53 47 58
AH 26 11 31 25 36
AJ — - 24 - 26
AK — - 17 — 16
0 AL —~ —~ 30.5 —~ 45.5
AM —~ - ANO6 - AN09
AN = = 7 — 10
AANEE model CSKUl AR HR, AERIS= AE23E HHFHAIR.
HHE ABE A2, AG-AK-AJ-AH XI = 6mm 2 AELICH

CADOIOIE S O22CE -2AMFEE MTAZESHO X2 www.pascaleng.co.jp

[EHE

- ENAHINA

Csp

339



JunerE =

Csp

340

CSP[L I-D 225 =l
Hze=
model CSP[J-D HH 2= =
IS
00 :CSJ00
)z :CSJ01-03
CsP — D :mEs
04 :CSJ04
06 :CS[J06
I AEE modelCSN - CSYE, SgMEE 25 A
S & O 22 = model CSP-D&t AIMEE HFA =
EZLZEEYWYE model VCFO1SE ﬂ B
NBEORZM BRHASSH 4 R —
AZHS g2 XHE 2 USLIC S
YANEE
CSN =
del CSY & O
mode e (4}
TEEE 69
model CSPLJ-D o -
p ™
mm
& Al (CSP00-D CSP-D (CSP04-D CSP06-D 216
L 83 69 90 86 99 Zoomezwy
ArE23 6.5 6 8 8 10 model VCFO15
(BASHH AFZ Al
ogqme | CSNOO| CSNOT CSNO3 CSNO4 CSNO6
ZzeReEzWs o CSY00 CSY03 | CSY04  CSYO06
model VCFO1S e CSKOO | CSKO1 | CSK03 | CSK04 | CSK06
SHE SBMHOINE B2 TSNS oo gyme Ko 29, AERTE HHFMAIS,
Db ASUHE 2 5 20 GLIAFEE 2 F 20
@ o A
% %
i = =
2 1l 1l ]
ZAHE
: @ @ A @
i i N i
sojpe  / e So S s S
mm
= CSP00-D CSP-D CSP04-D CSP06-D
Max. A 27 12 32 26 37
Max. B = — 25 — 27
Max. C — — 18 — 17
IMEE CSNOO CSYO00 CSNO1 CSNO3 CSYO03 CSN04 CSY04 CSNO06 CSY06
Al CSKO0O0 CSKO1 CSKO03 CSK04 CSK06
2OYES 229X *sULL
Q| D20 JITHEOf UK 22 X0l 26HA S —>326H 01 XI(CSN) 3281 01 X (CSY) -334H| 0] XI(CSK) -338-341H 0| X 2

FEHFEAL.

9|

3]
rr

mMAZIZO0(F)2

TEL. 055-274-0971

E-Mail. : korea@pascaleng.co.jp




CSP[I-D

AEX+E
HOHEZE®D
M5X0.8 2015
4-0GE oK
SLZERDGI/
(EE2REBEEYE 3220
-
s
N
GLIAZ2I ]
338
SATEDGI/S
(BZE22BE2YS 5=20ts5) GLIAtS 2l
| oC |
X
O &
. || P
o I I
= i SJ
. X
02P9 M4Z24 0
11
@ @ RATER
0aP9
a
| J w
= D o
M5Z2{ 1 D, HOMEZER
F

FHEAN ABEE TEQ ZHOE HD ABH FUAR
DPANBBAINE 2LE HOMEZERDS M5ZHIE HI, 5
WOHETEDN HEoH FAAL

=
il
e
J

1)
B

HEEIHSE

Ofl 01 B 2t = Max.e7

4-MMLIAF

W

H2H0 Al AFESt=E B2,
Z =0l =& Rz6.301Gt2 At&tal =&AL,

LEAFW
oV 5o %H,
c 2 "
M5Z2 32 Al
=N
-1 Necacl I
%Ljei* 05 2 P
X-X
mm
g 4l CSP00-D CSP-D  CSP04-D CSP06-D
A 36 38 45 55
B 27 29 34 44
o C 29 32 38 50
D 7 7 9 10
E 9 11 13 16
F 18 19 22.5 27.5
2 G 4.5 4.5 5.5 5.5
o H 8 8 9 9
J 9 9 12 12
o K 48 50 60 75
MM M4x0.7 M4 X 0.7 M5X0.8 M5X0.8
oV 24.5 28.5 345 43.5
W M26X1.5 | M30X1.5 | M36X1.5 | M45X1.5
=M2E 35~45 40~50 45~55 55~65
HMZEZ3 N-m N-m N-m N-m

CADOIOIEHS 22t -zmdFEE

D AZSHOXNZ www.pascaleng.co.jp

341




2R

Csp

342

CSP[-F

=N =0
= & T
Zax
model CSPLI-F AFOIZ
026 :CS[J00
030 :CS[J01-03
csp - F:Z&X
036 :CS[J04
045 :CS[106
| | AR+ sesJng
L
model CSP[J-F
DA
0B B
4-E 4-AC
b7 N\
O O
YINEE 4-0D
model CSN-CSY - CSK
FHEA . = oAA !
£ o
Rz6.3
ﬁi LD o
model CSPL-F

£

T

OEAXE FHEHN .
QYIAMZEE HZA.

HREEs 25T

L 280l JIHE 0 AKX ¢$2 X==0 2cHMH= —>326H 0l XI(CSN) -328

2&Lt.,

MOl XI(CSY) -334H 0l XI(CSK)E & Xo = AIL.

mm
& A CSP026-F CSP030-F CSP036-F CSP045-F

A 35 40 50 55

B 26 31 40 42

C 17 16 16 18
oD 55 55 6.8 9

E c3 c3 c3 Cc4

F M26X 1.5 M30X 1.5 M36X 1.5 M45X 1.5
@ AA 24.5 28.5 345 43.5

AB 3 3 3 3

AC M5 M5 M6 M8
e 0.09 kg 0.11 kg 0.18 kg 0.18 kg

Ho
lo
rr

mMAZIZO0(F)2

TEL. 055-274-0971

E-Mail. : korea@pascaleng.co.jp




